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	100 x 2 = 200
100 x 5 = 500
6 x 100 = 600
4 x 100 = 400
	200 x 3 = 600
800 x 4 = 3 200
6 x 700 = 4 200
4 x 900 = 3 600
	300 x 8 = 2 400
400 x 7 = 2 800
9 x 500 = 4 500
8 x 600 = 4 800


· Décompose et calcule suivant les exemples :

	700 x 4 = 100 x 7 x 4 = 100 x 28 = 2 800
	6 x 400 = 6 x 4 x 100 = 24 x 100 = 2 400

	
	

	500 x 7 = 100 x 5 x 7 = 100 x 35 = 3 500
	9 x 800 = 9 x 8 x 100 = 72 x 100 = 7 200

	
	

	4 x 800 = 4 x 8 x 100 = 32 x 100 = 3 200
	6 x 300 = 6 x 3 x 100 = 18 x 100 = 1 800

	
	

	700 x 7 = 100 x 7 x 7 = 100 x 49 = 4 900
	900 x 9 = 100 x 9 x 9 = 100 x 81 = 8 100

	
	

	3 x 600 = 3 x 6 x 100 = 18 x 100 = 1 800
	400 x 8 = 100 x 4 x 8 = 100 x 32 = 3 200


· Décompose et calcule suivant l’exemple :

907 x 6 = (900 x 6) + (0 x 6) + (7 x 6) = 5 400 + 0 + 42 = 5 442

635 x 7 = (600 x 7) + (30 x 7) + (5 x 7) = 4 200 + 210 + 35 = 4 445
430 x 9 = (400 x 9) + (30 x 9) + (0 x 9) = 3 600 + 270 + 0 = 3 870
372 x 5 = (300 x 5) + (70 x 5) + (2 x 5) = 1 500 + 350 + 10 = 1 860
609 x 8 = (600 x 8) + (0 x 8) + (9 x 8) = 4 800 + 0 + 72 = 4 872
258 x 4 = (200 x 4) + (50 x 4) + (8 x 4) = 800 + 200 + 32 = 1 032
· Pose en colonnes et calcule :

	
	
	
	

	784 x 6 = 4 704
	851 x 9 = 7 659
	487 x 5 = 2 435
	608 x 8 = 4 864

	5728 4

x       6

4 7 0 4
	
	48 5 1

x       9

7 6 5 9
	
	4438 7

x       5

2 4 3 5
	
	660 8

x       8

4 8 6 4
	


	
	
	
	

	4 087 x 7 = 28 609
	7 620 x 4 = 30 480
	6 453 x 8 = 51 624
	9 408 x 3 = 28 224

	46048 7

x           7

2 8 6 0 9
	
	27 6 2 0

x           4

3 0 4 8 0
	
	364425 3

x           8

5 1 6 2 4
	
	19 420 8

x           3

2 8 2 2 4
	


	
	
	
	

	58 034 x 5 = 290 170
	25 607 x 2 = 51 214
	78 631 x 7 = 550 417
	87 090 x 6 = 522 540

	45 81023 4

x             5

2 9 0 1 7 0
	
	1215 610 7

x             2

5 1 2 1 4
	
	674826 3 1

x             7

5 5 0 4 1 7
	
	48 750 9 0

x             6

5 2 2 5 4 0
	


